
Puissances de Dix (I)

28 × 5 = 56 × 4 =
28 × 50 = 56 × 40 =
28 × 500 = 56 × 400 =
28 × = 56 × =
28 × = 56 × =

28 × 6 = 58 × 1 =
28 × 60 = 58 × 10 =
28 × 600 = 58 × 100 =
28 × = 58 × =
28 × = 58 × =

46 × 3 = 62 × 8 =
46 × 30 = 62 × 80 =
46 × 300 = 62 × 800 =
46 × = 62 × =
46 × = 62 × =

90 × 2 = 96 × 2 =
90 × 20 = 96 × 20 =
90 × 200 = 96 × 200 =
90 × = 96 × =
90 × = 96 × =

71 × 6 = × 2 =
71 × 60 = × 20 =
71 × 600 = × 200 =
71 × = × =
71 × = × =

DÉFI
MathsLibres.com

5 000 4 000
50 000 40 000

6 000 1 000
60 000 10 000

3 000 8 000
30 000 80 000

2 000 2 000
20 000 20 000

1 274
1 274
1 274

6 000 1 274 2 000
60 000 1 274 20 000



Puissances de Dix (I) Solutions

28 × 5 = 140 56 × 4 = 224
28 × 50 = 56 × 40 =
28 × 500 = 56 × 400 =
28 × = 56 × =
28 × = 56 × =

28 × 6 = 168 58 × 1 = 58
28 × 60 = 58 × 10 = 580
28 × 600 = 58 × 100 =
28 × = 58 × =
28 × = 58 × =

46 × 3 = 138 62 × 8 = 496
46 × 30 = 62 × 80 =
46 × 300 = 62 × 800 =
46 × = 62 × =
46 × = 62 × =

90 × 2 = 180 96 × 2 = 192
90 × 20 = 96 × 20 =
90 × 200 = 96 × 200 =
90 × = 96 × =
90 × = 96 × =

71 × 6 = 426 × 2 =
71 × 60 = × 20 =
71 × 600 = × 200 =
71 × = × =
71 × = × =

DÉFI
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1 400 2 240
14 000 22 400

5 000 140 000 4 000 224 000
50 000 1 400 000 40 000 2 240 000

1 680
16 800 5 800

6 000 168 000 1 000 58 000
60 000 1 680 000 10 000 580 000

1 380 4 960
13 800 49 600

3 000 138 000 8 000 496 000
30 000 1 380 000 80 000 4 960 000

1 800 1 920
18 000 19 200

2 000 180 000 2 000 192 000
20 000 1 800 000 20 000 1 920 000

1 274 2 548
4 260 1 274 25 480

42 600 1 274 254 800
6 000 426 000 1 274 2 000 2 548 000

60 000 4 260 000 1 274 20 000 25 480 000


